$M F B=\frac{2}{N}\left(\sum_{1}^{N} \frac{\text { Model }-O b s}{\text { Model }+O b s}\right) \times 100 \%$
Equation 1
$M F E=\frac{2}{N}\left(\sum_{1}^{N} \frac{\mid \text { Model }- \text { Obs } \mid}{\text { Model }+ \text { Obs }}\right) \times 100 \%$
Equation 2
$N M B=\frac{\sum_{1}^{N} \mid \text { Model }- \text { Obs } \mid}{\sum_{1}^{N} O b s} \times 100 \%$
Equation 3
$N M E=\frac{\sum_{1}^{N} \mid \text { Model }- \text { Obs } \mid}{\sum_{1}^{N} O b s} \times 100 \%$
Equation 4
$M N B=\frac{1}{N} \sum_{T}^{N} \frac{(\text { Model }- \text { Obs })}{O b s} \times 100 \%$
Equation 5
$M N E=\frac{1}{N} \sum_{1}^{N} \frac{\mid \text { Model }- \text { Obs } \mid}{O b s} \times 100 \%$
Equation 6

